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Starting of the Single Phase Induction Motor using Static
Switched Capacitor

Yasser A. Mahmood
Assist. Lecturer / Elect. Eng. / University of Mosul

Abstract
This paper provides a method of changing the effective value of the capacitor for

starting a single phase induction motor starting. This capacitor is connected in series
with the auxiliary winding. Its effective value can be controlled by static switches in
parallel with the capacitor  through a series of pulses. The focus was on finding ways of
obtaining the best effective capacitor during starting condition through computer
simulation software using (Matlab). By using this method, only one capacitor is used for
both the starting and running conditions and a similar starting performance can be
obtained when compared with the conventional method using two capacitors. The
computer simulation results are validated by building a laboratory model and
comparison of results.

Key words: single phase induction motor, switched capacitor, variable capacitor,
starting conditions.
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Single phase induction motor:-                                                            RLC  circuit:-
r1m = 0.78 ,    L1m= 0.0032H,                                                                R= 5 , L = 0.6H, C =
20µF
r2' = 1.6 ,       L2' = 0.00318H,
r1a  = 3.52 ,     L1a = 0.0087H,
a = 1.66,
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